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0.27 6.4 1.73
-7 43] 4.4388 1 3
-6 44] 4.2681 1 2
-5 45] 4.1039 2 9
-4 46] 3.9461 10 40
-3 47] 3.7943 20 77
-2 48] 3.6484 18 67
-1 49] 3.5081 8 28
50] 3.3731 4 14 2 6
1 51| 3.2434 5 15 2 6
2 52| 3.1187 3 11 2 5
3 53] 29987 5 15 2 5
4 54] 2.8834 4 12 2 5
5 55| 2.7725 0 0 2 5
6 56] 2.6658 0 0 2 5
7 57] 2.5633 0 0 2 4
8 58| 2.4647 0 0 2 4
9 59| 2.3699 0 0 2 4
10 60] 2.2788 1 2 2 4
11 61] 21911 2 4 2 4
12 62] 2.1068 0 0 2 4
13 63] 2.0258 1 2 2 3
14 H 1] 1.9479 2 3 2 3
15 H 2] 1.8730 1 1 2 3
16 H 3] 1.8009 0 0 2 3
17 H 4] 1.7317 2 3 2 3
18 H 5] 1.6651 7 12 2 3
19 H 6] 1.6010 4 7 2 3
20 H 7] 15395 7 10 2 3
21 H 8] 1.4802 8 12 2 2
22 H 9] 14233 5 7 2 2
23 H 10] 1.3686 30 41 2 2
24 H 11] 13159 18 23 2 2
25 H 12] 1.2653 19 24 2 2
26 H 13| 1.2167 8 9 2 2
27 H 14] 1.1699 0 0 2 2
28 H 15| 1.1249 0 0 2 2
29 H 16] 10816 0 0 2 2
30 H 17] 1.0400 0 0 2 2
31 H 18] 1.0000 0 0 2 2
32 H 19] 0.9615 0 0 2 2
33 H 20] 0.9246 0 0 2 2
34 H 21] 0.8890 0 0 2 1
35 H 22] 0.8548 0 0 2 1
36 H 23] 0.8219 0 0 2 1
37 H 24] 0.7903 0 0 2 1
38 H 25] 0.7599 0 0 2 1
39 H 26] 0.7307 -7 -5 2 1
187 449 67 117
194 67
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